sin?x +cos’x =1
sin?x =1-cos?x

cos?x =1-sin?x
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COSX
COtX =—
SInX
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1+tan’x =—=—=sec’x
cos’ X
1+cot’x = 12 =csc’x
sin’x

sin(A+B) =sinC
cos(A+B)=-cosC

A+B ___.C
5 =C0S5

sin

sin(%—@):cos&
cos(%—e)zsine

tan(%—@) =cot
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sin(z—-0) =sind
2 cos(z—-0) =—-cos
tan(z-6) =—tané

sin(-60) =-siné
cos(-0) =cos @
tan(-0) =-tané
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( sin(0)=0 \ * sinx =sinfd = x=g+2aK uf‘
X=r-0+27zK i
cos(0) =1 _
(0) 1 £ COSX =C0S0 :{i_e;rf;ZKK L‘_! o AEL ¥ alal)
T =— 7K i
SIN( =) =+
(6) 2 + tanx =tand =x =0+7K
-4
ﬁ sinx =0 =x =xzK
SIﬂ(%)ZT cosx =0 :x—%+7rK
T 1 tanx =0 = x =zK
Cos(g)_? sinx =1 :x=%+27zK acline yix Lol iflie @a¥alaa
sin(f):cos(f):g sinx =—1 :>x—32—”+27rK Caelian yin
cosx =1 =x=2zK acliae yis
sm(%) =1 cosx =—1 =X =x+2zK Cacliae yi>
COS(E) =0 sin(A+B) =sin A.cos B +cos A.sinB
2 sin(A—-B) =sin A.cos B -cos A.sinB
COS(3—7T) =0 cos(A+B)=cos A.cosB —sin A.sinB
2 cos(A—-B) =cos A .cos B +sin A.sin B goerd G ol
37 _ tan A+tan B Leg 29 gl
SIn(T)_ 1 tan('A”LB)_l—tanA.tanB
_ B _ tan A—-tan B
cos(r)=-1 tan(A-B) =1 5anA tan B
K sin(z) =0 /
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sin2A =2sinAcosA
cos2A =cos’A-sin?A

sin®A -sin’B =sin(A +B).sin(A-B)
cos?A+cos?B -1=cos(A+B).cos(A-B)
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- cosA.cosB
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tan2A = 2tanA tanA—tanB ~cosA.cosB
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SinzAzl—COSZA
sin3A =3sinA —4sin®A LB ol ilay pa pilews
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sinA+sinB=25inA;BcosA£B
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sinA-sinB =2cos sin
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cosA—cosB=—25inA+BsinA_B
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sinA.cosB=%[sin(A+B)+sin(A—B)]
) 1¢ . )
cosA .sinB ==[sin(A+B)-sin(A-B
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cosA.cosB=%[cos(A+B)+cos(A—B)]
sinA.sinB=—%[cos(A+B)—cos(A—B)]
A
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c=2RsinC
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cosszazzcj lgio s | b2 =a’+c?-2ac cosB ABCetin2 il sucle
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J— + -
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